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B2 HAX E [ RE- AR (FEIHMG @ (ES
EYN 6 EE Skg i 78 | 4,500 EE
BEHN 8E = #95ke 8 #8 | 4,250 EiE
BEYN 102 = #95kg i 8 | 3,750 EE
B4 452 S 5kg 8 kg 700
7o 23/24E &= 5kg & kg 950
71 8/9kg = 1A 8 kg | 1,300 EE
71 8/9kg Edoa 1A a kg | 1,250 PR FTE
7 8/10kg = 1A 4] kg | 1,150 TBE
71 7/8kg = 1A E3] kg | 1,100 TE
7 10/11kg F % 1A 4] kg 900 &4
ES<Y 6/8kg RIG 1A 8 kg | 1,500 TBE
VAN 3kg EiE 1A i kg | 1,900 #
VAWK 4kg RS 1A i kg | 1,900 i)
HIF Skg RRE 1A & kg | 1,750 £
VAWK 6kg RS 1A i kg | 1,600 i)
19+ 8/10E iTjm 5kg bS] kg | 2,400 EE JEX
AXF 2/3E B 4/5kgE 8 kg | 1,450 TE
*eHY #9150 =1 3kg 75 kg | 1,350 K5l BEHLELE
A5 A dkgE = &0 1A i kg | 2,000 i)
E 1R A RIG 8kgH 8 kg | 1,500 I\
VAP 3/4kg & fit] 1A A kg | 2,950 # lEHO
TH 2E RIG 4/5kgE & kg | 2,000 EE JEX
B #92/3kg FE 1A i kg | 2,600 BkFEE B
o= 1.5/2kg 'S 1A & kg | 2,600 EE JEX
B 2FE RS 1.9/2kg i kg | 2,000 EBE JEX
24 1/3FE B 2/4kg 8 kg | 1,600 EE
<A 2FE EH 2kg & i kg | 2,600 EE
RAILTRRAILAH EE 300g >4 # | 1,400
RAIKRZILAH = 350g 54 # | 1,600
HERZILAS = 21 >4 # | 1,300
£I35X IR 100g P P 200
AT RAT #9180/200g| dJtiE:E >4 54 350
I =] #9300¢g dtiEE & kg | 1,600
HHT 200/250g KI5 & kg | 2,600




